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Candidates shall note that each question will be
muitilingual, viz., in English / Assamese / Bengali /
Bodo / Hindi medium, for their ready reference. In case of
any discrepancy or confusion in the medium / version,
the English version will be considered as
the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION—A [ 3¢ / 3> / H—aATgr [ F—WT

Choose the correct answer : - 1x45=45
U Teh AR B £
W% Teafd @ s Y
T et waw’
1. Which of the following is an irrational number?
TR (DT BT AT He 7
WA @G b ez e 2
TR R AR TRy SR
1 3 & A o st T 17
V2
al ==
(a) =
J5
C ———

2. When the polynomial p(x]-—x3+4x2—3x+2 is divided by
x+1, what is the rcmamdcr?'

p(x) = x3 +4x2 -3x+23§°|'"TC‘GW +lﬁﬂ“1ﬁ5ﬁ'ﬁ s frm

|1
Ji

11

LE & ;:
p(0)=x3+4x2 -3x+2 wﬁma:?x 1 T/l S8 I, SO IS
32 .

p(x) = x3 +4x? —3x+2ﬁ3ﬁ’ﬁﬂT@"T_x+lGﬁtFﬁ$n @R SR
SPTA? -

TR p(x) = x> +4x? -3x+2F x+ 13 WM X R Au%et =1 27
(a] 4 -(b) -4

(c) 8 (d) -8
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3. If the graph of a polynomial cuts x-axis at two points and y-axis
at one point, then the number of zeroes of the polynomial is

b1 TP AFR IR x-55% K51 Rrge D A y-5rwa <1 RS b,
(STTR T TROMMOA X1 782l 2’7

T T ARR @A x-TwE b R B R y-orwes @@l RS
JCB, STRCHA IPMAVA TR TR =R

e faemerian oty S cqRedd @t e g R
y-TIRErEr 7ig feera am), srsen faemmveify wnfira’f emfmmar s
ARt foreft wgue &1 W% X~ A D fagadt @ sl y-a1m A o fig wowfeeda
AT ¢, T TGIQ & Y| g et

(a) at least 1 il (b) at least 2
6 1 s a2
7 TR 1 7 336 2
GHeE! 1 T 2
FH-U-F1 1 F9-8-F0 2

(c) at most 1 (d)_.-af most 2
W|WAR 1 ' W AR 2
¥q @ 1 QP2
IR 1 L wiffuR 2
-3~ 1 i -3-atfes 2

4. Which of the following is a linear equation in two variables?

woTs Tl SRR (! Y1 Doy LA STt 2
Fw e FReishR @A gt FRYE taRE AT ?
MRS B THHAATEHRE A8 HiA TR T S@isim qumeg?

g § Y -1 T 3 9 dren as quitE §7

C EAE
(a) 5x-2y=0 gokin (b)) x+x°-2y+8=0
: [8]75 5%

(© x+2y+10=x®+y (d) 3x-2y%+1=3x
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ions given below
5. For which value(s) of p does the pair of equation &
have unique solution?

P R W A e oy et by wRE SR SR
P9 (FH W & New ﬁ@ﬁ@qmmmwmm?
pﬁmmﬁmmmmmqﬁtﬁﬁ@mwma?

p¥ 58 7 % R MR Ry weftemoit 1 et @ & 67

elD 4x+ py+8=0

BN 2x+2y+2=0

(@) For all values of p, except 4
P 4 3 MM 5= I
p R 4 7 A SR I
p T 4 & s M 7w

4 H BER p & WA 7RI F fore

(b) For all values of p, except 2
P 3 23 3F ¢en I
p 99 2 @7 A Rl IW
p T 2 7 sFm méda A

2 H BigH p & Wit 7AT F *ow
(c;') For p =4 only Qiel0)
@&FE p =4 99 IR WA
(FE p =4 T &)
p =4 YR JraEd’
fak p =4 fau
(d) For p =2 only
@ p =2 94 A
(FE p =2 099 &
p =2 AR 9rEmEE’
fab p =29 fom
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6. For what value of p, the equation (p —2) x2 +3x+5 =0 cannot
be quadratic?

p3 TR Az (p -2) %2 + 3x + 5 = 0 MO FRwre AT 72 ?

p9a N W TV (p-2)x2 +3x+5=0 AP famre FANwAT A
9

p P ™ AR arEm (p - 2) x2 + 3x + 5 = O THAYTEAN S GHAATS S

p%%ﬂqﬂ%%ﬂ“ﬂ"ﬂw(p—2)x2+3x+5=01ﬁqﬁ'ﬂ'iﬂ$fﬂ'l?ﬁ€‘

Heh1? & -“E!'

O} 5
(@) 1 . (B 2"
(€ -2 () o

7. The roots of the equation ax? +bx+c=0, a#0 are real
and unequal. Which of the following is true about the value of
the discriminant D ? '

ax? + bx+ ¢ =0, a¢onﬁmﬂwwww,ﬁmna
(IO WE ACA o1 T ?

ax? + bx + ¢ =0, a # 0 TRFR AR A1 w3 PEH, REIbF D 9w
@A AR G < 79T ? |

axc® + bx + ¢ =0, @ # 0 TAAUEH VeTHT T AW FuFArS, Al D &
M THA ATEE =9 9r?

TR ax? + bx + ¢ =0, a # 0 F Yol areafas iR = &, fafeem D&
form 7 % fo 78 w27 El’!"*E‘
(@ D<O [ (b) D>0

(c) D=0 (d) D<O
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on for the
8. Which among the following is the correct exprSS‘

70th term of the sequence 4, 9, 14, 19, 24, e

! o[
4,9,14,19, 24, ... NHR 70y AHOA AT S R
IR T 337

4,9,14,19, 24, ... RBT 70wy oo U A T LTS 2T
A T 37

4,9,14,19, 24, ... y@f 70 fy femf g@@ TEER qE TR
RAtEICIES IR RS o

4,9,14,19, 24, ... ¥ 703 12 ¥ fire fim & ¥ -7 faeheq a8 87
E]:I-cm' ;
m-u 3
(c) 5+(70x4) (d) 5+ (69 x4)

(@) 4+(70x5) (b) 4+(69x%59)

9. The first term of an AP is —20 and the sum of the first 20 terms
is —350. Which among the following is the last term of this AP?

b1 A 2191fSq 22T °f% ~20 WF AT 2001 %4 I —350, (STRTH
TR (FICOI, ST A9fEIBR CTR o 279

a6 A Aafeq 2% A% —20 @32 A% 207 R e -350, Oz
Ao efs FrEa sfelda cieg oW 2@ 2

TR AR St fif fiem 20 om fify W 20 faeefy e
—350, el e 7™ A Sl Safy faem siy?

Tl @R At (AP) 1 WuW W -20 2 3R IWF W 20 ¢ @ A

-350 9, a‘rﬁﬁ?ﬁﬂim-m%ﬂmm%(AP)muﬁqqa-@m
A0
(@) 15' f‘ : (b) 55

() ~T5" (d) -55
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1
10. If in AABC, AB =6 cm and DE || BC, such that AE -gAC’
what is the length of AD?

i AABCI AB=6cm, W& DE || BC, SR AE=1Ac, =@
AD 3 07 3’7 9
1

W AABC @1 AB =6 cm @t f)E || BE, wAR AE = £ AC, 4o
AD @3 7 773 ™ =
'.f 1

3R AABCR AB =6 cm sm DE'|| BC, smiam AE =z AC, 37T
AD T e s ) g

Ak AABC ¥, AB =6 cmamngz;ﬁ‘f’jgc,mmgﬁmg=.5m ?,
@ AD & @w=Ts F1 B0i?

%E\
B Aostele c'

@ 1Sem (b)) 09cm 9 12 cm () 06 cm

~E

J.: -‘"aﬁ.
W

11. If AS = AC, ag ok and .£A »AQ ZZ, then which among
OR PO QP PR
the following is true? | (‘-
o AB _AC XZ _ XY e LASZWQ = L2, (T ST G
OR PO ©OP .- PR ' :
e ?
& AB _AC XZ _XY
QR PQ’ QP PR
S]_]‘)

AB _AC XZ XY .
LA=/0 = £Z, ol TEER TR 4R
w® OR PQ QP PR Ce°; Q=

AB _AC XZ XY o [}
aﬁQR-PQ,QP-PR Aﬁfo /Z A e A} R

GR LA=LQ=/Z, oA WEI @FL

T 87 "
(a) AABC ~AQRP ~AXYZ 7. (b) ABAC ~ AQPR ~ AYZX
(c) AABC ~ APQR ~ AXYZ (d) AABC ~ AQRP ~ AZYX
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12. For which value of k, the points (7, =2) (9 1) and (3, k) are

collincar? i'”’**--.- :
3 IR AR A (7, —2), (5, 1 (3, k) Rl AT 2’3 ?
ke @8 PR R & (7, -2), (5[14);&154\ @3, k) Rl @ A ?

ke R w1 s e (7, -2), (5, ;)aéﬁ @3, k) frdra graraeh smi?
k¥ fra R % R fig (7, - 2), (3,1 v (3, k)W #7

(a) 2 (b) 4

(c) 6 : (d) 8

13. For what value of a will the distance between the points A(a, 4)
and B (2, 7) be 5 units?

a3 ¥ T AR A(a, 4) 5 B (2,"7) Ry T T TY 5 4FF A7
a 98 B T T Ala, 4) R B2,57) R fon T [ 5 0 27
a B m ARl wEmE Aa, 4) u@%(z,?)ﬁa’tﬁqﬁﬁﬁﬁtﬁmm

5 ¥Hfe ST :‘?}5

o % i T % R g A(a, 4) R B2, 7)% 9 g8 5 i v
(a) 6 b) 2

(c) 6 or -2 (d) 2 or =6

'

14. What is the value of cot25°cot35°cot45°cot55° cot 65"?:
cot25° cot35° cot45° cot 55° c%liﬁf" TR Rm ?3?
cot25° cot35° cot45° cot55°cot@b® ¥F W F© I 2

cot25° cot35°cot45° cot55° cc}tﬁ??" & A S@a SmEe?

cot25° cot35° cot45° cot 55° cot§5° <1 WH 9T B ?

1
(a) NG (b) V3
(c) 243 (d) 1
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15. If sccA+tanA=l, then x-{-l:?

X X
QﬁSECA'FtanA:l, mx.‘.};é;?

= ™
11ﬁ5‘:(?t':z"t+tanA:l,tﬁﬁzﬁlx+(.1-)("—'1 2

X Ex;!
ﬁﬁSlf('_:f“l‘tal'"l“‘q=l 3T&cTl X + L);}?

x x|

ﬂﬁsecA+tanA——ﬁ a‘[x+l=?

X
(@) 2tanA  (b) 2secA () secA (d) tanA

16. In the figure given below, if ZQOR =100° then what is the
value of ZOPR?

foae frar wa, 3% ZQOR =100°, (¥%'te LOPR wmﬁﬁnﬂﬂ?
fSza (rem T, uf% LQOR = 100%@&::1 ZOPR &3 ¥ TS %4 ?
e g =i, IR 2 QOR = 150 3T ZOPR T W ¥t A7
49 few e fam 4, afe ZQO0R = 1@55@ @ ZOPR Eﬁrmw@’n?

(8) 100° (b) 80° @) 40°

17. The area of a sector of a circle with radius R and central
angle 30° is ()
R IPI44 «B1.3Eq (F% 30° qu;ﬁwmﬁﬁm
R AT 3l 90eq (FeE 30° (IS JEFR CFITH A
Ru'@Ef 9@ Faaf freara 30°§‘i‘qwﬁmﬂ@ﬁﬁwﬁmwﬁ'—r
ﬁWRaré‘@qa%ﬁaﬁsowﬁwqﬁﬁwmmﬁm

) L
@ ZR B 5k o SR @ R
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18. From a point Q, the length of the tangent to & circle is 24 cm

and the distance of Q from the centre is 25 cm. The radius of
the circle is

Yy
ﬂmﬁﬁ@“%tﬁﬁwmf‘f@%ﬁam 24 cm ¥ (FEI A QI Y
25 cm 2, FEiR ey 2’3 E'ﬁ_';}f,j}

AW
I R Q9 (W «afls qran = o 24 cm R T (W0F QT
TR 25 om %7, 3afba aemd 7., |

e 5= Qﬁmxﬂqﬁ%@qﬁqﬁamaﬁ“ﬁmm24cmm
Frefwra O & ST 25 cm s, @R @@ A

TG QA w 3w w el w f @ 24 cm 9w QA FR A
25cm R R Bend

(a) 245 cm
(c) 12 em

; : §.23 : | ;
If the perimeter and the ared of a circle are numerically equal,
then the radius of the circle ‘is

19.

T @bl &2 AR W o1 TeRrrera s =, (T3 TSR P 37

ﬂﬁa@ﬁwﬂﬁﬁmmmmﬁwmmmmmd
A

SEAH ' @E .

.'f_—,;,_.-‘l
A% o g 1 oo st e e w9 Y SO E, @ o 9w ) e 2

() 2 units (‘E;) s umts‘:' (c) 4 units (d) 7 units

2 TP 0 4 9T 7 @%F

2 GG T 4 GFF 7 G

2 |rfe ™ WA 4 W 7 FAR

2 AA® URIEE] 4 " 7 HIAF
B25-GM/501-C
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20. Three identical solid cubes of side k units are joined end-to-end

horizontally. What is the volume in cubic units of the resulting
cuboid?

IMED k 0@ P T AT Sqpiesna e #1209 | K
TS YTRDR SIS T GIFS I 27 7

&k e 1 W eNce-anE Spiaer AT F Wl | YT
R D7 WS T G TS T3 7

TRk WRYR M TER T A ey g e e |
HRISATE AR Tt AT o W i A7

k e ) e O iR o w9 AR Af e i RR-A-RR g
fam e, @ 7 o = S o A ¥ T am? E’glﬂ

(a) 27k3 (b) 18k3 (o ok3 EWE () 33

21. If the curved surface areas of a cylinder and a cone of same

radii are numerically equal and the height of the cylinder is 2 cm,
then the slant height of the cone is

T AP B @ R @bl R e 3 RS T |
REAFCHR BB 2 cm, (ST IFOR (AN TS| '3

AR IR I @R @A) G HT @ R AR I |
T @EBA THS 2 cm, OICA 1§ IR TwHO T3 '

T wEEh I T I A sEgh derfagh geemsiiar s
aifed A S eRg™ ST 2 com, e e Aee st S -
IR wE i 9 & dor 3R O Vg % 9 JEY AEed Wifed® §9
R 2 2R o 6 I8 2 cm B, @ vF N fdE I8 F=0 Eehe

(@) 2 cm (b) 4 cm (g 6 cm (d) 8 cm

22. What is the mean and median, respectively, of the first S prime
numbers? d Of{0
29 551 (AR UM Y SR T T
2o 5 (e YR Ty G378 TG FCH
fify W= 5 q=1 SAREIR TR 3 s Wi

Qg 5 MY T F HEN: q1ed 3 e a1 g

v y

(a) 5,5 (b) 52,5 (¢) 56,5 d 36,5

+
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23. Two fair dice are thrown together. What is the probability of not
getting same number in both?

gmﬁ@m el aaEs TR AR e atE T IR el

1 Rrom spaf aaset fiowel Faa fdds <% el =1 A1 ST S 2

T MM IRE T T gEE TEEE s aeE @ ke AR
ST /Y7

aﬁ%mﬁ@muﬁmw%laﬁmﬁwmﬂﬁmﬁ

(&) (b) —

36

Al O+

(c) (d) 1

24. A letter is chosen at random from English alphabet. What is the
probability that the letter chosen lies between i and x?

‘im@acﬁwawmwmwﬁﬁﬁw A 1 WF x T
TEre PR SEifder a2 |

A& 1A (T Gl T AT @R P, STAB § @R x @7
TG AP SR TS ?

TSl BTE) BAH%H H0 TRl W' O S, gREen i o x
TRd AHE SYEATET S84 ?

Sl SviTe # @ Argfe ¥ W UH R W) TN W@ 2| SR w1 i
? T 98 258 1 3R x & 5oy =1 2t

g e (0) =
(3) 26 |1 £ 26
7 8
(c) o5 S (<)) T
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25. If p =g and when p =6, then g = 30. Now if p = 2, then what is

the value of g?

“ﬁP“QWP=6W,m:;:so.aﬁm;::z,&mwmﬁmﬂ?

W pecg @R p=6=, =@ q=30. 9% p =2, S qad T FS
TR ? DO}
g_l ]
Ev R

IR p < q IR p =6 S g = 30. 7P p = 2, M g F A HwT?

;ﬁnpxqaﬂ'{p=6€1,‘(ﬁq=30@m|ﬂ'ﬂp=2ﬁ,ﬁiqWWTﬂT
?

(a) 12 (b) 20

[c) 10 (d) 15

26. Which of the following is a perfect cube?
o (IO 7 W ?
Mewa @M o €72
TeE A& AT 917
= 8 8 ool a1 FA-|RY
B
(a) 652 [®)7 =% (b) 933

{c) 343 (d) 1002
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27. Which of the following is a square of an odd natural number?
O CTCH! SR WY R 352
NEq R R g e 792
e "W 3R Asm s
B 3 % -t e oo den a1 27

OR&O]
(@) 256 %% (b) 169

(c) 546 (d) 754

28. Which of the following rational numbers have terminating
decimal? '

T (FTACIRD! AT 8 e wfe R Wik 2

M7 @Fma «ifewm S Afeme i e w2

T T TS SR SR < R i
ﬁnﬁ@rﬁﬂ-ﬁﬂwﬂhﬁ@mﬁ%wmmﬁ?_

0
» 1874
(11) I—Qg

17

iii
) 302

L

(b) (i), (i), (iv)
Ad) (i), (iii), (iv)

(@) (1), (i), (iii)
(c) (), (i), (iv)
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29. For any primes p and g, p2 and q2 are

(X) prime numbers (Y) composite numbers (Z) co-prime numbers

(Ll
R e dnfere siean p o q3 A3 p® % g% 27
(X) e iR (Y) e fw[ (2) F2-CTPr SHem

@ A AT T p @R q AT p2 @3 g2 T

(X) (N 2 (Y) (@S sieam (2) F=-cfers s

SrafEsTE A2 AR p 3 g B wrEm p? AR g2 an EE
(X) Tt 3xfem VERHECEL

(Z) <V e AR

l

%ﬁﬁmmpmq%%ﬁﬂwfi

T fias

(X) 3= T (Y) W9 6@ (2) |-y el
(@) Y and Z: are true = (B) Only X'is true
Y 9% Z 7% TF X 3%
Y 932 Z 9 T X 379
Y 3 Z 9% .| X 3@’ 4R
Y ol Z wé & N o X e @
(c) Only Z is true :::': (d) X and Z are true
T Z 7 ¥ X S Z 3%
T4 Z %) X @38 Z )
Z e’ 9n X 3 Z oW
b Zwd Xk zudh §
B25-GM/501-C [ Contd.
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30. A quadratic polynomial p(x) = x% + bx + ¢ has zerocs @ and . If
a+B=7anda? +p2 =20, then what are the values of band ¢?

«B) awTe e p(x)=x2+bx+ca-1a13%1auw5.ﬂﬁa+ﬁ=7w

a? ?43? = 20 7, (78 bF ¢ T ']
)

w2 _TRN1S T%or p(x)=x2+bx+cm’.q‘1={!ﬁﬁ o B IMa+B=7

m:l%%ﬁ? =29 %W, OE b 9R c9q T I
{'.

M:Wﬁm p(x) = x2 + bx + c i wfra’ A o FR B,
a+P =7 a? + B2 =29 wm, rn b A ¢ A A A

T T TG p (1) = 12 + b+ o % TH o I BN AR 0 +B =7 AR
o? +B% =29 R, R b 3l ¢ 7H T MY

[a){ﬁj 740220 (b) b=-7,c=10
1% 7, c=10 d) b=-=7,¢c=20

Y - |
31. If the value of the polynomial p(x)=ax> + bx? + cx+d is 10 for
x =0<and 15 for x =1, then what is the value of a + b+ ¢c?

M @b q2em p(x)=ax3+bx2+cx+d? ‘ilF{.x=0? qAE 10 H=F
x=133R 152, (*Ba + b +cI A =2

i @3l T2 p(3) = ax® + bx? + ex+ d 7 TH x = 0 @7 §F 10 @

x=199%4 15 W, SIA a + b+ c99 TH IS 32

(2
aft AR faeraial p(x)=ax® + bx? +ex+ d A 7@ x = 0 wmam 10
AR ¥ = 1 4 9r@™ 15 S/, 36T a + b + o fY v a@e?

Y,
afz @) agw p()=ax® +bx® + ox+d AR x=0 ¥ R 10 ik
x =13 {15 8, @ a + b+ ¢ F1 7H e e |

(@) 25 {b) 10
(c) 5 (d) 15

B25-GM/501-C [ Contd.
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32. What are the vertices of the triangle formed by the graph of the
cquations 4x -y -8 =0 and 2x -3y + 6 = 0 with x-axis?

4X-y-8=0 WF 2x-3y+6£0MIN @ PR x-Iw1 TS

waﬂwﬁr«ﬁ?@mmp )

4x-y-8=0 gR 2x-3y+6 Umﬂﬁﬂiﬁﬁx-wm

Seorm T fargsiba MRaf e ;;;;‘}

4x—y—8=0mzx—3y+6=5'%%ﬁmﬁiﬁuﬁmﬂﬁﬂmx-@ﬁﬁ@“ﬁ
gmiverE srERmf fef ke e

4x-y-8=0 3N 2x-3y+6 =0 % 3 A@ (7)) 3R x-219 T A
i & vid %

(a) (21 0)! (3' 4)! (3: 0] (b) (_3! 0]! (3! 4)! [2: 0]
(¢) 0, -2),3,4), 0,8 R (d) (0, -8), (3,4), (0,2
N
F"&"‘ﬁ

33. If the lines x =2, y =3 and p.g-&“‘?.y 10p =0 meet at a point,
then what is the value of p? ~=

ERE

M x=2, y=3 WF px+2y- 10p_b0m13ﬁa%1ﬁ'ﬁsﬁﬁvw,
(S8 p3 I =2

I x=2, y=3 @& px+2y-10p =0 @M 76 @ Rge fife =,
WEEE p 97 TH TS T ?

R x=2, y=3 W px+2y-10p =0 F@RN 7R fadwma @
e, e p B WA A’

MR x=2, y=3 3 px+2y- lﬁf\jom@ﬁimﬁﬁ?ﬁﬁ @A p

&1 HH 1 87 {:%
1 D ) -1
@ 3 ﬁ} ' (b) 5
3 BN (R
fe) ~= @ 2
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2
34. If o and B are the zeroes of the polynomial p(x) = 4x“ +2bx +9,
such that o+ p =0, then the value of b is

W p(x)=4x2 + 2bx +9 TRADA *F0 9 o0 AF p W, T® 0.+ =0,
(ST b TR ]

W p(x) = 4x? + 2bx + 9 TRowdA 0 A @ @ W, TS & +p=0,
OREE b 93 TH 33

IR b = 4x2 + 2bx + 0 Frerariaify enfira’ R o AR P A, Y
a“‘“B:O,WbﬁWW

A TR p(x)=4x2 +2bx+ O F EF a M PE, T a+p=07%,

b %1 9H '
(a) 6 (b) 4
[c) 2 (d) -0

35. Which term of the AP -49, -42, -35, ... is 0?
-49, -42, -35, -+ A YA (D *W 7 7 2

~49, —42, 35, - A 25 @ Tl " =1 2

-49, —42, - 35, --- ARG SR 7 faern afve’ smim?

TR A4 (AP) —49, —42, ~35, - F FH-RI 95 0 27

(a) 9th (k) 7th
(c) 8th (d) 6th
B25-GM/501-C
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86. In the figure given below, AODC ~ AOBA, £BOC =125° and
ZCDO =70°. Find ZDOC and ZOAB.

@S, AODC ~ AOBA, £BOC =125° HqF L/CDO =70° £DOC H®

ZOAB Tf#eq |
foca, AODC ~ AOBA, £BOC =125° @t £CDO =70°, £DOC €3
ZOAB g 331 |
HETRA™, AODC ~ AOBA, ZBOC =125° 3 £CDO = 70°. ZDOC
I LOAB fegA|
F= e f § AoDC ~ A0BA, £BoC =125° 3t £cDO = 70° ¥
ZDOC ¥R LOAB 7@ $ifim) DifelC]
" D G ic O}~ ¢
70° -
o)X 125°
— 5 ;,
(a) 50°, 50° 49 55°, 55°
(c) 60°, 60° (d) 65°, 65°

37. To divide a line segment PQ in the ratio 5:7, what is the
minimum number of points to be marked at equal intervals

on the ray drawn at P? |

PO @IS 5 : 7 SATSS S19 F4R A P Rog@ @1 Wifeta cman o
N SEAES Sls IRALA Fee fFaEn R BiRe e @t 2

PO aRef 5 : 7 SIS S1e 3IA W P R (vee /s (e afufee
S SEAIE ©15 FAR T W IS T e fofEs Fare w32

PO @ W 5: 7 TYUEE AR @ErEEt a@y PR
ARl TFTE AT WA BRI EEE @rEmAl @il R fat <
@rAMA! A7

Yards PQ # 5 : 7 % arguia # fawifora wet % forg, P fig @ wieh 8
= gur e W FA-8-F9 fha fgal w fafga e gme

(@) 7 E‘% {b) 5
(c) 12 Ev & (d) 2

B25-GM/501-C [ Contd.
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" The arca of a triangle whose vertices are (3, 0), (3, 4) and (x, 0)
18 6 square units, Then what is the value of x?

(3, 0), (3, 4) e (x, O)W W@‘lﬁ[ 6 4 WQ’W, X3 9H
¥

(3, 0), (3, 4) wwe (x, 0) Rrry frgre (A 6 35 U T, x G
RIERs

3, 0), (3, 4) 3m (x, 0) fufiafy i) i srarFReER ZEARRE 6
WA SRS, x ) ey s

T Pyt s 3t (3, 0), (3, 4) st (x, 0) %, T e 6 o R R

ﬁx'ﬁ:‘lmm@m? Ok :-cE!
(@) 0 % ) 4
() 6 (d) 9

39. The line segment joining the points of contact of two parallel
tangents of a circle is a/an

aﬁmwwwﬂ‘fﬁ*ﬂﬁﬁxmﬂw @Y 020"

T TR b TG =i =opef R ez 1 el 2o
AR Sty G fom e i R arT TR S
T F4 R Qe -t F wd-figed 9 el @ 5 s

(g) radius of the circle (b) diameter of the circle
TSR P TR
geibg Py ; s T
JE @ Farl @
o I =7
(c) secant of the circle (d) arc of the circle
o o B v
s e BRSO g
A AT qER wRE
lad 9 A s
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40. Ifsin 6+ cosb = /3, then which among the following is correct?

T sin @ + cosB = 3 W, (B TR (FID 0F 7
T sin 6 + cos B = /3 =, S N6y @ w5 2
i sin 0 + cos 0 = /3 A, 31een MR TR N7

?If?:'siilﬁ+cose=\/§%,?ﬁﬁ’:{ﬁ@ﬁ?-mﬂ'tﬁ%?
E:.:;E!

Ok%E 5
(c) sin®-tanB =1 (d) sin@-cot6 =1

{a) sinB=cosH (b) sinB-cos® =1

41. In the figure given below, if XA =7 cm, YB =5 cm, then XY =?
o foge i W, 7 XA =7 cm, YB =5 cm W, (SGR’TA XY = 2

Fooa foca neqr wes, 3 XA =7 cm, YB =5 cm W, OIFE XY = ?
FramIA dEmiEE e =91, gk XA =7 cm,j’iB:S cm, 3= XY =?

fRftemmfEd, aR XA=7cm, YB=5cm?®, 4 XY =?

z

Y B

X A Y
(a) 17 cm % ~ (b) 10 cm
(c}) 12 cm sl (d) 14 cm

B25-GM/501-C : [ Contd.
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42. The heights of a cylinder and a cone are in the ratio. 2:3 and
their volumes are in the ratio 9:8. Then the ratio of their radii is

@1 (R WF @] WA TR TS 2:3, TEEH FLME 9:8 T,
PR 1 Sy %'

I @ R @3 g TweR e 2:3, WHSCT I 9:8 X,
RSERIE SR E L CR T

mﬂﬁmﬁ?ﬁﬁmﬁﬁﬁmﬁr{mﬂzzsmﬁﬂﬁmﬁﬁmgrs
ST, S FEah Ty e

T 45 3R O Wy A St 2:3 % opyw  § ol I A 9:8 F
I | E, IR Brewedi @ amaa e %
Ot

(@) 27:16 (b) 9:16 (c) 4:3 | '(d) 3:4

43. If 21 is removed from the data
11, 12, 14, 14, 15, 17, 19, 20, 21
then the median of the new set of data is decreased by

o 11, 12, 14, 14, 15, 17, 19, 20, 21 SYFEE A1 21 I fl 2,
(OHZ e YA SUPTRA AR ZF 24

w11, 12, 14, 14, 15, 17, 19, 20, 21 SUYE (I 21 AT 78
o, OrEE Ao ST TAR I 203

3R 11, 12, 14, 14, 15, 17, 19, 20, 21 TRERA%E 21 TR
ST, e TRM WIRERH oty GHEaE A

«fe 11, 12, 14, 14, 15, 17, 19; 20, 21 el |/ 21 & g R
Mg, A T TS B A febd e Smem?
[=]7) [s] ]
(a) 2 Ay (b) 1
77 &R
(c) 05 4d) 15
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44. If three coins are tossed at the same time, how many outcomes

et

-

£
W

R R AR 74 70 e S, e e s

R T Rt = o & W w0 o @ wTen s, A o A e g

) 9 =+ (d) 8

45. The value of ¥8 + 327 + ¥64%is=

%+%’ﬁ+9'6—4?mq'#
¥8 + 327 + ¥64 @@ TH =A@
¥8 + 27 + Y64 M swim

1
lhmﬂl “I’ln 4

l!!:;};' T'”

it

Y8 +327 + Vo4 Fum & ol

o
£

UL

b
g

| t
T

wm g

ki 'LJ
f

0

(@) 6 © b)) 7
(c) 8 Jd)9

B25-GM/501-C B [ Conid
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47.

48.
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SECTION—B / s—xy | 4=/ g—amgrm [ —Hm

(a)

Express in factors : 5
BT o7 7 O ;:;
AT et T N

L ™

Wwﬁfﬁﬂmaqﬁmm: f)j

TrES Hifir - .

Xy+x+y+l1

Show that every positive even integer is of the form 2qg, and-that

€Very positive odd integer is of the form 2q +1, where g is some
integer. ¢ 5

LAS
sl Y STOIF FF U W0 Ry 2g WA A AT FNE H
TS AR 2g + 1 WET, ' q@mmﬂﬁﬁm

18 mmwwmaé gzqmmzmwwﬂ:
4G X 2 + 1 A, mrmqm@wmmmwm

e & dawerrE g s o’ mzqwmmm
SR T IR 2 + 1 7et, SA g 37 w1 99 o1 Sh)

2Tz foF TRs aArens wW qUiE 2g % w9 261 R a9 YT S s
Ut 2g + 1 % &9 1 21 8, el g F1 it )

prd
ST

B >
e

Prove that
AT ¥ A

4919 I A
I g@rem B
g Hifo &

‘P“r {I“K

"JT I‘L’.‘ éﬂllu L
S i

vy

* T
o e

1-sinb

6 —tan 8) =
(See Dy
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F
or acute angles A and B, sin B = cos(A + 60°). Find tan (A + B)

A
¥ B SRR A3 sin B E.cos(A +60°) T tan(A+ B)T
Sl | ‘o)

A 9R B IR oy sin B £ ¢ds(A + 60°) %@ tan (A + B) 9 g
fRefw =z o0

AWBWW&Wsmﬁ éos{A+60°)Gna‘frd1 tan (A + B) &
™ R 4y

IR sin B =Cos(A+60°) ? 9&l A 3k B =@ &, @ tan(A+ B) #
RIERIGEED E 1

A child has a die, whose six faces show the letters as given

below
(2] [8] {c] o] [ [A]

The die is thrown once. What is the probablhty of getting
() A and (ii) D? i

@mﬁmuﬁqwﬁw,m%ﬁﬁmw (7YSqA HC TIA G
III@@I

&fbeh1 @R TR Afder 2'e | (1)A'6IFF(11) D &TERR Seiee fF 2

3 frew b pel wie, T @l Pies s crem @@ v @1 =
[A] [8] [¢] [o] [E] [a]

&l @R RS2 390 2@ 1 (i) A 9?2 (i) D (@4 26T SR 6 2

A Y WA T34 T, WA A fager menE R aii et sian

][] [E] [4]

2rEad! WE TREAT W& | (i) A\’ﬂTﬁE}(u) D AR sereEmn me

uw o= o ur R, e g ® R st sifa 3§

[ (] [€) 0] [£] (&)

savréa%ﬁanﬁmwhwﬁwuﬁaﬁn%%mAmaw
(11)DHTH'€!?

2
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52.

53.
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Solve the following equations :
TR AR S 741 -

The difference of squares of two positive numbers is 180. The
square of the smaller number is 8 times the larger number.
Find the two numbers,

! $IT KA T ey 180, % SRARBR 3 TIEA FLADA 8 BT |
R BT Tferea |

T T Fem ot o 180, calb eea 3 B AW 8 BT
R %o e < | Toae

T safmif st wrem 180, Rm-sERmR i 3Rm Rmf 8 wH
N | s T Rl L

QA HAICE WEAIAT F T &1 i [80: 2| DR HE 1 A A€ WEA H 8

In an arithmetic progression, the sum of the first n terms is

2
3i— +'% n. Find -its 25th term.

_ 2 i
51 IR 2ofeq AT nﬁﬁﬂmﬂﬁ%+l§-n, (ST 2597 *[Th]

fAefy < | P

k3 3n? 13

afi TR e AW b A G =t ™ O 259 o
ety A | :

2
wF g A4 (AP) A, 7944 n‘?ﬂ“ﬂﬂ’f‘l%+§n%l3¥ﬁﬂ25ﬁw
I Hf|
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54. X ang Y

are 1he 1V Of
ﬁ pt) cspectl 519
4 BC ints on Sides AB and AC r

. If A_X s

show
4 ¢m, XB =10 cm, AY =6 cm, YC =15 ¢t 3
that 2BC < 7 xy

AX =4 cI}'lf
ABC%WABWACWMXW Yﬁmﬁﬁ;ﬁrzﬂ. E5E
XB =10 ¢m, AY =6 cm; YC =15 cm, (73891 (T 2 45_115 2
1t AX =
ABCfawts AB wa AC Trze T X« Yﬁi'gé;:'rﬂ-
XB=10cm,AY=6cm,yc=15cm, crae (@

o =
“mewmAcm@mmxm y 3

= R
—— cm,

W AX =4 cm, XB=10cm, AY=6cm, YC =15
2BC=:7XY.

| £ AR
mAABCﬁgm&ﬁ,{ABaﬂtAcmm:ﬁgxaﬂt Y ferm

, @ &g
AX =4 cm, XB =10 cm, AY =6 cm 3 YC =15 cm &
Fifsm 5 2BC = 7xy Bm)

&; :-eE!

E-.w b
3) are the vertices
. B(8,2),C(9, 4)and D (p,
55. If the pmr;ltesl:g (r6a’ni], taLcn in order, then find the value of p. 3
Of a para 4 .

A6, 1), B, 2, CO,4) I D(p, 3) R0 @xh1 Twcs @by
fﬂ@ﬁw’ﬁ’rﬁm, (SRt p A T Py 341 |

I A@6,1), BB,2), CO,4 9 D(p, 3) Ry & mm i
S wrEgel p 93 TH [0 331
TeEfRcEd TR =,

6,1), B(8,2) C(9,4) ¥ D(p, 3) Adew Rrmesemsht wrid
Eqiaé:%’zﬁm,mpﬁmﬁw

fig A(6, 1) B8, 2 C(9, 43 D (p, 3) wF qricaguis ¥ ¥irf weh
jﬁa,apmmmﬁﬁm

[ Contd.
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Prove that the lengths of tangents drawn from an external point
to a circle are equal. ' (=172 %[s] 3

Zl

AR AN O Bt IfRefRez oray gt By wopfacard ol T | EER
A I @ 43 MRy (2rF 75 onfs G FopfaaE Ll T |

PO wEm R AR arn Aefem takm dmm TihE sEm
SIREUEAT §9H |

i ifire 13 amer firg A g e ol el -Xeanait <) e AU el €

57. Find the area of the sector of a circle with radius 4 cm and of
angle 30°. Also find the area of the corresponding major sector.

(Use n = 3-14) 3
4 cm JPIE 91 381 30° (R JaFARDHE FIfer T 31 1 7191cS, S
T30 ISIENCON 1 Fofy 91 1 (Ie2q 3401 7 = 3-14)

4 cm IS «Ff ren 30° @ JeFAA crawel o we | e
ST YO JII0A CFGwe ey I | (I9TH I 1 = 3-14)

4 cm WEE M A @A 30° TR q@R gweEl fg) wEE
R A I T g (e n = 3-14)

B 4 cm I T F0 % TisuEs w1 fawa 319 FiRw, R Fo 30° 2
™ A, 9 4" Bougs # dwd ot I AT (n=3-14 w1 W9
#f)  Epm

_E-w 2

A toy is in the form of a cone of radius 3:5 cm mounted on
a hemisphere of same radius. The total height of the toy
is 155 cm. Find the total surfage area of the toy. ' 3
b1 7@ GCF TS Bl FLAEIF €9 3:5 cm IPIHTS b1 A
53 | @GR o Tel 2’ 155 cm. Y[CALR o ol Ref 347 |
@3B (47 R IPAYYE G ST B 35 cm TIPNLTE @l

A T e ) (ela GIb Twel A 155 cm. (AT @D
AfRe oA SRS fadfy el |
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M - i ’ T
' -E;W@“ﬁaﬁ’ﬁmthwﬁmaﬁtﬁms-s cmﬂﬁﬂmm
ﬁ?gl ST | oty rd e 155 cm. gty mé Sk
?w|@ﬁmﬁm 35 cm AR T WF F AFLH &, < 3E Hwa’@”’;
@TTBB‘T: ARG R g faei i wpd =€ 155 cm 21 7 Tl
LELEE GRS @rsk[q
D £
59. The mean of the following data is 22. Find the value of x:
e |
Class interval | 0-10 | 10-20 | 20-30 | 30-40 40-50
Frequency 12 X 6 f | g
oo SURFR T 22 e, x3 W A 0
% W@ | o0-10 | 10-20 | 20-30 | 3040 | 40-50
AT 12 P 6 | 7 9
Nevg BBa TG 22 27, x 92 T+ e T
% wmaE | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
IR 12 x 6 7 9
rerafy @i Ferhrar 22 s, x 1w R
g @=la | 0-10 | 10-20 | 20-30 | 3040 | 40-50
TATAYT 12 x 6 7 9

g aifeel T W 22 81 x F 9H Fid i ;
e

0-10 | 10-20 | 20-30

aif
Ccicl 12

X 6

B25-GM/501
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Construct a right-angled triangle with its bas? and :elght
as 4 cm and 3 cm respectively. Draw another triangle having

sides —2- times the corresponding sides of the right triangle.

aﬁw%ﬁggﬁmwgﬁ%mwwgcm;mgﬁwwﬁr
i 0 Z 991
g i T R e sy Rgecm T T 2

m’*ﬂﬁ?ﬁﬁﬁ@ﬁﬁwawgﬁnmmm%%m’@w
frge ©ie TR e mwﬁ}mmﬁm@ﬁagml

TR G ST anfa Ss @ 4 om A HAEET 3 cm. 3 @
T AR S em anfy sk mﬁmﬁna‘mﬁmmﬁlmﬁm
:ﬂafammrﬁgmml A

m-v!
T qR By = D, R amir s S R 4 om 3R

3 cm §\ v o B 1 we i, e g e gu Py #
Wﬁﬁgtﬁtﬁn -

Find the zeroes of the polynomial x2 + 7x +10, and verify the
relationship between the zeroes and. the coefficients.

X%+ 7x+10 THBR AR Weq WF X *F TR NI TGS
o 21 1 |

X% +7x+10 TR Fraf Pl w @3t @ 0 @R TshE T
=g AR S |

% +7x+10 Frmimit afE'sat R oM 3 @i’ s awe
AR TSTE 9 EMLrE 91 TEER)

TETE X2 + 7x + 10 F YIH F T A 70 T 3R Yot F
%ﬁdtﬁ'ﬁaﬁﬁﬁm% T S e
X \

[=]:

* ok ok
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